New Products
CKD

FRIRS AR
GCVERZ Series(5iz#)

GCVSER Series (stiisan) Wie

MODULE COOLANT VALVE GCVE2/GCVESE2 SERIES

K& L“ j(uu.i, ‘ﬁﬁ:lﬁl
ouTOa1l 5~40AE’Jan|‘$§

IR ECE TR

ERHITE, k. ATRESHT
| &%50E - %
ERIERAENES RIEIER

SRS
R
i

5CVSE2-25A 5
(43%8T)

r 1 1

@g—k@ o H@E
LU e

I L&&ia 12@’%

—iIBERANAIRFAAI L MBRER (RS
5i%)

| (R
A5 = L E NIRRT 41

| 3R ET1.6MPa(~25A)
0.5. 1.0. 1.6MPaflt&ER ™= RRF!

| RfxfERR S
&8 RIFEIRREIL (L2OA~40A)

CKD Corporation

CC-1491C



JISFTFS
©® GCVER2 (R#xH!)
: NCH®!
OL.JT
I

x5

IN

@ GCVE22 (5i5#)
: NO®E!
ouT

on

@ GCVSE2 (Buifis 1Y)
: NC&!
!D Ol.JT
T
T

IN

@ GCVSE22 (EBHiimEEHE)
: NOZ&!
P out

=,

CKD

IRRLEN R

GCVE2 * GCVSE2 series

® NC (FH) 2.
@ icENE

NO (£7) 2
: Rc1/2. Re3/4. Rel.
@ £/£0.5MPa. 1.0MPaf. F[%1.6MPafA

Rcl 1/4. Rc

1 1/20UTH)

S D

R
4= | OBMPa___ | 10MPa | 16MPa |
MHES
EEAT NC (%) 2 |NO (5 7F) 2 [NC (%) B [NO (7 2 [NC (5) B |NO (57 &
ERRIE SR BT EMERRIE (k1)
STAKHEE mm?/s 500l F
FEAEHD MPa 0~0.5 0~1.0 0~1.6
it FE 1 (KE) MPa 2.0 2.0 6.0
RISBE T —10~60 (F8H%
FERE T —5~50
3] P st cm®/min 20 (KFE)
REFR FE
KSR =5
ZSEN MPa 0.25~0.7

*1

Xk (HIR) . FHRW. TIRERIASRER

IR R

SIS (FRHERIE S - B RAAS)

FEBE AC100V(50/60Hz) - AC110V(B0Hz), AC200V(50/60Hz) - AC220V(B0Hz), DC24V

BERERA) AC100V : 0.068/0.054. AC200V : 0.034/0.027. DC24V : —

RISEAR(A) AC100V : 0.041/0.032. AC200V : 0.021/0.016. DC25V : 0.075

) AC 2.2(50Hz). 1.8(60Hz) <##&mil> 2.4(50Hz). 2.0(60Hz)
DC 1.8 <@Eni> 20

BEZR Z75130(8B)

BriP %R (IECHRAES29) IPX5

%2 : REACE AR REL 1 0%LRER.

O.5MPaAZ N #hFlig

REOR #E | oo | %% [ EEke) 3

MRS ouTd | INO | (mm) & 172 |GCVE2(2) [GCVSER (@)

6CVER(D) -GOVSE2(2 815405 | Rc1/2 | Rc3/4 | 14 5 1.0 1.2

BCVER(Y -GOVSE2I2 82005 | Rc3/4 | Rcl 15 1.7

BOVER(D) - GCVSER(2) B L20A05| Rc3/4 13

B0VERR) GOV 25 | o1 | e (/2| 24 16 | 1’8 | 37 39

BOVERLD) - GOVSER 2 JEa-aeA-05 | R 1 1/4 31

G2 COREZ 08 [Ro1 1/2]  noe | 49 57 57 | 58

1 .OMPaFﬁ%MW*W,ﬁ

BRE0EZ BE | oo | %% | ERke) i3

#nﬁiva ouTd | INO | (mm) B 172 |GCVE2(2)[GCVSER (@)

BOVERLD) -GCVSER) g 15410 | Re1/2 | Re3/4 | 10 3.5 1.0 1.2

BCVER(2)-GOVSE2(2 Rc3/4 | Rcl 14 6.5 15 1.7

BOVERLD) - GLVSER 2B L20A-10] Rc3/4 9

B0vERR) GO o0 | Ro1 | O /2| 17 0 | fele | 37 39

BOVERLD) - GOVSER P JE3eA-10 | R 1 1/4 23

B0VE2(D) GOV ERa0h10 [ Re1 1/2] T2 | 29 o5 5.7 59

1.6MPaR Z M

REOR #E | oo | %% [ EEke) 3

MRS ouTd | INO | (m ) B 172 |GCVE2(2)[GCVSER (@)

6CVER(D) -GOVSE2(2 {15416 | Rc1/2 | Rc3/4 1.0 1.2

BCVER(Y -GOVSE2R 82016 | Rc3/4 | Rcl fo1/g |15 1.7

GOIE2E S0UE2ZR-EAHOTS] Ro3/4 | o 6 . 5o

BCVER(D) -GOVSE2I2JEl-25-16 | Rl 6 : :

A3 EENENER, BRRNESFETICHEEXERHITHE,



BSRTRAZE
® s

(GCVE2)(2)-(2)-15A-05-(0)

@ AR A

(GevsEd(@)-(®-28-10- OB E-®

O HEsT
xe

O EHREH X3

@ X TEHILIL
1EIREIEIESED | LA,

EIERBERE,
BEAE3R,
@EEOZOUTOOR)
x4
@ EREH
%5%6
<BISRTHI>
R - B EMRAS
GCVSE22-5-20A-10-02HS-1 ©
% : GCVSE2 : BRI EE
(AR5 : NO(EF) B
G EHRIES : B
@ &REOR : Re3/4(0UTO) GzE
® ERESH : 0~1.0MPa %7%8
G A - BHEEMRAS © @E-F58% (BHE) .
B THEISAR
@ =ZE T BHETITHDING 74 (Pg9)
8 HL iRm0 D HRER SR
B : AC100V(50/60Hz). :
AC110V(60H2) © ﬁ‘gﬁgl’ﬁ‘
¥ 1 . M#MELSGCVERMGCVSERRE SRR A E X 10
£, BEWEAR, 11
%2 1 BEAR (OT) MRARRAI LR, BEW
FAF, Q@=E
%3 1 RAEHASE,
%4 REDR (@0 WESERAKTERS, HE8

AT,

EREA (@) KR SIERTELH T EHIE,

0~ 1.6MPa(®1116) fZE&EO1Z32A. 40A

B TCIR3ERR

ZE2J (@MW) ToiE 3T Rz R AR UK 28 B~ Fo

L B2K (@) 1234 Rz R AR U B~ &

1HI&A2KS,

%E2G (@MW) BY , SRIBRULBMFHEF =P, (2H

ARE.)

%10 : RER(OWB) B, NAREERENR15A.
20AKM @ L, RERMHES= ST,

: EENRINRARKSENLEREZTE, OM
iEASB&RT.

5
%6

%7
%8 !

%9 !

%11

GCVE2 ° GCVSE2 Series

BSRTRAZE

GCVER | GCVSER
EHE  INC(EH) R o o
2 NO (¥7) & o o
O IERIEL
A 13 BB o o
B 13 @A o o
2 3% o o
3 3% o o
a4 4 LAK
5 5i% o o
15A |Rc1/2(INO#Rc3/4) o o
20A |Rc3/4(NO%Rc1) o o
L20A |Rc3/4(INO%Rc1 1/2) o o
25A |Rcl (INO#Rc1 1/2) (N
32A |Rcl 1/4(INO%Rc2) o o
40A |Rc1 1/2(INO#Rc2) (3K
® FEREND
05 |0~0.5MPa o o
10 |0~1.0MPa o o
16 |0~1.6MPa o o
O iRk - FHEHRAS
PNV EEMHE
o | E) TSR (@ | @
B TR |B5EL (BER) |J|IRER ® | O
2G |#DINEF4 (Pg9) ®
2H  |#ETITHDING F5E (Pg9) ®
2J  |#DIN#FHE (M12-4PiEiE!) ()
2K  |#HETITHDINS TR (M1 2-4PEiE ) o
WS |TEEW o o
s HIRE WU SR ®
B HRER ® | O
] AC100V (50/60Hz) ®
AC110V (60Hz2)
o AC200V (50/60Hz) °
AC220V (60Hz)
3 DC24V ()

CKD



GCVE2 ° GCVSE2 Series

@ X TIRRIR

© £ SN ERRAUERAONBE#ITES, UANRRIHTEENSR.
BARSRERA © BEAIB: B,
EEHM AL TR

TR
=lgl=

A:E4E BEFLE

3% 0= =1
TR R
I

B:@7LE A:B4f B:iE7E

0= —=——10
TR RO R
EHEMEE

B:&@FLE A:E4E B:&E7LE B:@fLE

5% 0 =D = il
R
I HE

B:@7E B:i@flE A:B4E B:&7E B:@f3

@ EiZAEH
BAIE | EHERT | OFEME/#= BIAIAE |ZHEBRT| OFEME/ =

GCVE2-15A-50-0-JOINT-KIT |M8X50 |M8 TSR/ 14 GCVE2-25A-85-0-JOINTKIT |M12Xx85 |M12 TSR/ 11
GCVE2-20A-60-0-JOINT-KIT |M8X60 |M8 THBER/ 14 GCVE2-40A-110-0-JOINTKIT |[M12X110 |[M12 TS/ 14
GCVER2-15A-50-B-JOINT-KIT |M8X50 |M8 ARR/ 14 GCVER2-25A-85-B-JOINTKIT |M12x85 |M12 B/ 1
GCVE2-20A-60-B-JOINT-KIT |M8X60 |M8 FARE/ 14 GCVE2-40A-110-B-JOINTKIT [M12X110 |M12 AR/ T4
GCVE2-15A-100-0-JOINT-KIT |M8X 100 | M8 TR/ 219 GCVER2-25A-170-0-JOINTKIT |[M12X170 |[M12 TSR/ 219
GCVE2-20A-120-0-JOINT-KIT |[M8X 120 | M8 TR/ 249 GCVER2-40A-220-0-JOINTKIT |M12x220 |[M12 TSGR/ 249
GCVE2-15A-100-B-JOINT-KIT |M8X 100 | M8 FLER/210 GCVE2-25A-170-B-JOINTKIT |[M12X170 |[M12 FLR/210
GCVE2-20A-120-B-JOINTKIT |M8X 120 | M8 FIRER/21 GCVE2-40A-220-B-JOINTKIT |[M12Xx220 |[M12 FIRE/210

xige, BHBNKER21,

W AR (124 R) MIBE! (BFLEY) WK 5754
® OUTOHRSE T AR TR

A
i %J
@

A EgE B:@fLE

CKD



GCVE2 ° GCVSE2 Series

AERLEDE
ML RS — K
® GCVE2-&¥%/-[0f&]-05-10-16 GCVE2
s Jaitt &
1 (PES ADC12 SEESHH
2 |#E SWP ENLL
3 &= A2017 2
4 |EER SUS303 REW
5 [EEN SUS304 REW
6 [Ei®E SUS420J2 [ FiEN
5 A& FCD450 5L (FBE8)
)= SUS420J2 [ FIEHN
THEBE
8 |OWHE NBR (FKM
wH (Ficm) FBR)
THEBE
EEEH
9 |FEEFEHE NBR (FKM) .
@ GCVSE2-[E%|-[0%&]-05-10-16 GCVSE2
e
;m 1 | -
2 (@& ADC12 SEAESHH
3 |#E SWP 337
= 4 |EE A2017 b
5 &R SUS303 REEW
6 |;EFEMF SUS304 REEW
7 |Ei@E SUS420J2 [ REEW
a s FCD450 $HEL (FRER)
()= SUS420J2 (W
THEIS AR
Z NBR (FKM
9 |omE (FKM) .
THREIS AR
EEEH
10 [EEMFZHH NBR (FKM) )
11 |RAAEE SCM435 2
THREISE
12 |Of:E NBR (FKM
i (Fiemy B

@ 1EREY

CKD



GCVE2 ° GCVSE2 Series

SMERSTE

@® GCVE2-GCVE22-15A-20A

H

2-Rc1/8

2-J/

14.6

B
o)

10

C

&

&
&)

(@]

(0]

BB 13

2-M6 8

T_oi

HXNCEBASMEANXE, NORNESMEDNYO.

@ GCVE2-GCVE22-L20A~40A

mIFIRE IR

2-M8 ®17.5

‘O-

H 146
(@]
M
-
\
) . m | K
) o
c
A G 2
BB 20
8-M8 %10
o | &
0
E

S ““n“““““-
GCVE2(2)-15A-05+10-16| 695 | 44.5 20.5 1105 Rc3/4 | Rc1/2 | 20
GCVE2(2)-20A-05-10-16| 785 50 35 25 85.5 1285 60 41.5 Rcl | Rc3/4 | 30
GCVE2(2) L20A-05- 10+ 16 Rc3/4
SovEn () 2oA0s 015 | 122 80 43 40 115 | 1735 85 45 |Rel 1/2—5— 45
GCVE2(2) -32A-05- 10 Rcl 1/4
e oTANORID 122 80 61 40 159 217 105 61 Re2 [goyq75| 60
® GCVSE2-GCVSE22-15A - 20A @® GCVSE2 - GCVSE22-L20A~40A
65 H
H 22 65
5
1 (&
~=| Re1/8
=2 -
).
i 2-M8 §17.5
RIFIRIE PR
W
‘ )
& [y K
[m]
2-J
A c
= G 2
= . BB 20
BB13 8-M8 ®10
el | 2.M6 8 o | & -
T 5!
O | & f.0¢

S ““““““““-“
GCVSE2(2)-15A-05-10-16f 69.5 20.5 Rc3/4 | Rcl/2
GCVSE2(2)-20A-05-10-16f 78.5 50 35 25 89 1 97 60 65 Rcl Rc3/4 30
GCVSE2(2)L20A-05-10-16 Rc3/4

GCVSE2(2) 25A05-10-16 122 80 43 40 119 242 85 69 Rcl 1/2 Ro1 45
GCVSE2(2)-32A-05- 10 Rcl 1/4

GCVSE2(2) 40A05-10 122 80 61 40 162 285 105 84 Rc2 Rcl 1/2 60

CKD



GCVE2 ° GCVSE2 Series

SMERTE
IMERSTE
® e

@ GCVSE2-GCVSE22-15A-20A

@® GCVSE2-GCVSE22-L20A~40A

n-M6 &8

n-M8 ;%10

2

BB CC

CC BB 20

2

RS o

€

35

%1 1 XFERMK, HSRAEIN.

Bl
50 60 85

|
|

I

(
\;

e e BERISR,
(32ni0h | T5A | 2OA | L20w25A] 520a0n | T5W20n | L20w25A] Sonan 41
30 45 60 30 40 45

=173 105 20 2 A
2% 100 120 170 210 20 30 45 60 30 40 45 4 A+B
3% 150 180 255 315 20 30 45 60 30 40 45 6 B+A+B
45% 200 240 340 420 20 30 45 60 30 40 45 8 B+A+B+B
5% 250 300 425 525 20 30 45 60 30 40 45 10 | B+B+A+B+B
S "/ S
HIEFRDIME R T E
@ REIR ME W
GCVE2-GCVE22 o FEEEAL IR
GCVSE2 - GCVSE22 15A-20A B
- 13 - 2 - 3
B
| |
=}
Oy .=
¢ g °
5 :J-I_Ai D 4 \ D \JJl\./ IS )
- 9 25 17 39.5/25|36.5 39.525|25(25|36.5
50 (19.5) (16.5) (495) (465) (495) (35) (465
A% - 5%

S 4 S 4
39525 75 _|25]36.5
(39.5) (85) (46.5)

¥ ()RR AOUTOREOZ20ARKIE

@D g @D g
39.5|25 125 25/36.5
(49.5) (1565) (46.5)

CKD



EEE~m

KXTFRABRAEE, FEAELE.

[ RAER(L20A~40A) | | REER (MHEERE) | | EHF%(CPD) 4%

AFWHRR I o
EHITH  BEE - RS

fEMF, FSGARERIEBREM(RAERNIRLSE) #¥AES © CB-03-1SC) FigHm
EREEED,

| MNBEEE : 830440KiE (GCVE2 - GCVSE?) |
R - &fic - AR

1. B8
AEE
B iE (B EE X R iR,
BERARETHMNRER, BHEETRESFLER,
B 5 TRV R EH % £ BRI RS R E E A A7 i,
18RI, FEREOEEMMIALSBIIKRENERE, #ITEE,
PEG, FERNEERSALEHREBER.

EE RN/ AR R B EHE

M8 30~36N-+m
M12 43~52N-m

AERFRTRREXBEAZRINCRERE 25 2ERHIRT R,

FEMNEREORTRBREEIRART RGN, REAREEESOIEHNERERTSEAN. HBAXNART,

The goods and/or their replicas, the technology and/or software found in this catalog are subject to complementary export regulations by
Foreign Exchange and Foreign Trade Law of Japan.

If the goods and/or their replicas, the technology and/or software found in this catalog are to be exported from Japan, Japanese laws

require the exporter makes sure that they will never be used for the development and/or manufacture of weapons for mass destruction.

= ;FE(J:%’E)M%EE BE’RE] Bl AEp LEHIRCXETASEE 1905 SRR AH61£601 200233
<Website> BIE (021) 61911888 {EE (021) 60905357
https://www.ckd.sh.cn/

OLTHRNERN, A LIRHNFRIERIIMARSHTEE, BRSTEM, BiFRRE.
©CKD Corporation 2020 All copy rights reserved.
OEFE (LiB) HMBERAE 2020kRHE
2020.3



